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Name: __________________________________


1
In the diagram below of [image: image1.png]APRT



, Q is a point on [image: image2.png]PR



, S is a point on [image: image3.png]TR



, [image: image4.png]oS



 is drawn, and [image: image5.png]L RPT = ZRSQ



.
[image: image6.png]



Which reason justifies the conclusion that [image: image7.png]PRT ~ ASRQ



?

	1)
	AA

	2)
	ASA

	3)
	SAS

	4)
	SSS



2
In the diagram of [image: image8.png]MABC



 and [image: image9.png]MNEDC



 below, [image: image10.png]AR



 and [image: image11.png]BD



 intersect at C, and [image: image12.png]L CAB = LCRED



.

[image: image13.png]



Which method can be used to show that [image: image14.png]MABC



 must be similar to [image: image15.png]MNEDC



?

	1)
	SAS

	2)
	AA

	3)
	SSS

	4)
	HL



3
In the diagram below, [image: image16.png]


 and [image: image17.png]PR



 intersect at T, [image: image18.png]


 is drawn, and [image: image19.png]PS|| O



.

[image: image20.png]



What technique can be used to prove that [image: image21.png]PST ~ ARQOT



?

	1)
	SAS

	2)
	SSS

	3)
	ASA

	4)
	AA



4
In triangles ABC and DEF, [image: image22.png]


, [image: image23.png]


, [image: image24.png]


, [image: image25.png]10



, and [image: image26.png]


.  Which method could be used to prove [image: image27.png]MNABC ~ ADEF



?

	1)
	AA

	2)
	SAS

	3)
	SSS

	4)
	ASA



5
In the diagram below of [image: image28.png]MABC



, D and E are the midpoints of [image: image29.png]AB



 and [image: image30.png]AC



, respectively, and [image: image31.png]DE



 is drawn.

[image: image32.png]



I. AA similarity 

II. SSS similarity 

III. SAS similarity 

Which methods could be used to prove [image: image33.png]MNABC ~ ANADE



?

	1)
	I and II, only

	2)
	II and III, only

	3)
	I and III, only

	4)
	I, II, and III



6
In the diagram below, [image: image34.png]AB| DFC



, [image: image35.png]EDA || CBG



, and [image: image36.png]EFE



 and [image: image37.png]AG



 are drawn. 

[image: image38.png]



Which statement is always true?

	1)
	[image: image39.png]ADEF = ACBF





	2)
	[image: image40.png]ABAG = ABAE





	3)
	[image: image41.png]ANBAG ~ AAER





	4)
	[image: image42.png]ANDEF ~ ANAER







7
In the diagram below, [image: image43.png]LIRS = LART



, [image: image44.png]36



, [image: image45.png]


, [image: image46.png]


, and [image: image47.png]


.

[image: image48.png]



Which triangle similarity statement is correct?

	1)
	[image: image49.png]


 by AA.

	2)
	[image: image50.png]


 by SAS.

	3)
	[image: image51.png]


 by SSS.

	4)
	[image: image52.png]A GRS



 is not similar to [image: image53.png]MNART



.



8
In [image: image54.png]MABC



 and [image: image55.png]MNDER



, [image: image56.png]


.  Which additional information would prove [image: image57.png]MNABC ~ ADEF



?

	1)
	[image: image58.png]




	2)
	[image: image59.png]




	3)
	[image: image60.png]ZACB = LDFE





	4)
	[image: image61.png]L BAC = LEDF







9
For which diagram is the statement [image: image62.png]MNABC ~ ANADE



 not always true??

	1)
	[image: image63.png]




	2)
	[image: image64.png]‘.o
A

Q
m

L





	3)
	[image: image65.png]0y)





	4)
	[image: image66.png]






10
In the diagram below, [image: image67.png]MNA'BC



 is the image of [image: image68.png]MABC



 after a transformation.

[image: image69.png]



Describe the transformation that was performed.  Explain why [image: image70.png]MA'B O~ ANABC



.

11
In the diagram below, [image: image71.png]BFCE



, [image: image72.png]AB | BE



, [image: image73.png]DE | BE



, and [image: image74.png]ZBFD

‘BCA



.  Prove that [image: image75.png]MNABC ~ ADEF



.

[image: image76.png]




12
The diagram below shows [image: image77.png]MABC



, with [image: image78.png]AEB



, [image: image79.png]ADC



, and [image: image80.png]ZACB = ZARD



.  Prove that [image: image81.png]MABC



 is similar to [image: image82.png]MNADE



.

[image: image83.png]




13
In the diagram below, [image: image84.png]G



 is parallel to [image: image85.png]NT



, and [image: image86.png]


 intersects [image: image87.png]GT



 at A.

[image: image88.png]



Prove: [image: image89.png]




14
Given: Parallelogram ABCD, [image: image90.png]EFG



, and diagonal [image: image91.png]DFB




[image: image92.png]



Prove: [image: image93.png]ADEF ~ ABGF





15
In the accompanying diagram, [image: image94.png]WA | CH



 and [image: image95.png]WH



 and [image: image96.png]AC



 intersect at point T.  Prove that [image: image97.png](WTHCT)

(HT)AT)



.

[image: image98.png]




16
In the diagram below of quadrilateral FACT, [image: image99.png]BR



 intersects diagonal [image: image100.png]AT



 at E, [image: image101.png]AF| CT



, and [image: image102.png]


.

[image: image103.png]





Prove: [image: image104.png]





1
ANS:
1

[image: image105.png]APRT



 and [image: image106.png]


  share [image: image107.png]£ R



 and it is given that [image: image108.png]L RPT = ZRSQ



.
REF:
fall0821ge

2
ANS:
2

[image: image109.png]ZACE



 and [image: image110.png]L RECD



 are congruent vertical angles and [image: image111.png]L CAB = LCRED



. [image: image112.png]



REF:
060917ge

3
ANS:
4
REF:
011019ge

4
ANS:
2
REF:
061324ge

5
ANS:
4

[image: image113.png]


  AA from diagram; SSS as the three corresponding sides are proportional; SAS as two corresponding sides are proportional and an angle is equal.
REF:
012324geo

6
ANS:
4

AA
REF:
061809geo

7
ANS:
4

[image: image114.png]



REF:
081709geo

8
ANS:
3
REF:
011209ge

9
ANS:
4
REF:
011528ge

10
ANS:


A dilation of [image: image115.png]


 about the origin.  Dilations preserve angle measure, so the triangles are similar by AA.
REF:
061634geo

11
ANS:


[image: image116.png]/B



 and [image: image117.png]SR



 are right angles because of the definition of perpendicular lines.  [image: image118.png]


 because all right angles are congruent.  [image: image119.png]ZBFD



 and [image: image120.png]L DFE



 are supplementary and [image: image121.png]ZRCA



 and [image: image122.png]ZACE



 are supplementary because of the definition of supplementary angles.  [image: image123.png]LDFR

"ACE



 because angles supplementary to congruent angles are congruent.  [image: image124.png]MNABC ~ ADEF



 because of AA.
REF:
011136ge

12
ANS:


[image: image125.png]ZACB = ZARD



 is given.  [image: image126.png]ZA



 because of the reflexive property.  Therefore [image: image127.png]MNABC ~ ANADE



 because of AA.
REF:
081133ge

13
ANS:


[image: image128.png]G



 is parallel to [image: image129.png]NT



, and [image: image130.png]


 intersects at A (given); [image: image131.png]


, [image: image132.png]L CG= LT



 (paralleling lines cut by a transversal form congruent alternate interior angles); [image: image133.png]


 (AA).
REF:
011729geo

14
ANS:


Parallelogram ABCD, [image: image134.png]EFG



, and diagonal [image: image135.png]DFB



 (given); [image: image136.png]LDFR

‘BFCH



 (vertical angles);  [image: image137.png]AD| CB



 (opposite sides of a parallelogram are parallel); [image: image138.png]LREDR

IBF



 (alternate interior angles are congruent); [image: image139.png]ADEF ~ ABGF



 (AA).
REF:
061633geo

15
ANS:


[image: image140.png]ZWTA



 and [image: image141.png]L HTC



 are congruent vertical angles.  Since [image: image142.png]WA | CH



, [image: image143.png]L WHC



 and [image: image144.png]ZAWH



 are alternate interior angles and congruent and [image: image145.png]ZACH



 and [image: image146.png]L WA



 are alternate interior angles and congruent.  Therefore [image: image147.png]ANTOH ~ ATAW



 by AA. Because corresponding sides of similar triangles are in proportion, [image: image148.png]WH _HT
AT T



.  Cross-multiplying, [image: image149.png](WTHCT)

(HT)AT)



.  [image: image150.png]



REF:
010833b

16
ANS:


[image: image151.png]


  Quadrilateral FACT, [image: image152.png]BR



 intersects diagonal [image: image153.png]AT



 at E, [image: image154.png]AF| CT



, and [image: image155.png]


 (Given); FACT is a parallelogram (A quadrilateral with one pair of opposite sides parallel and congruent is a parallelogram); [image: image156.png]


 (Opposite sides of a parallelogram are parallel); [image: image157.png]LTRE




 (Parallel lines cut by a transversal form alternate interior angles that are congruent); [image: image158.png]


 (AA); [image: image159.png]AB _ IR
AE " TR



 (Corresponding sides of similar triangles are proportional); [image: image160.png]


 (Product of the means equals the product of the extremes).
REF:
082335geo
